normalized X2

10-3 -

10

[[normalized x? probability ]

Entries

+ | Mean 0.4953
. LstdDev 0.307;
TR

o T
=1 =1 1| I
: : gHHHH \HHMHH.‘ L U'\n\!.l.mhu L
SEERNREN 15 I‘h\uHH\mHnH"'HiilH‘H\ LI
2 4 6 8 10 12 14 16 18 20 09570.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
2 Prob(xz)
m=m== DQM_original_originalvector_1000evt
s DQM_original_1000evt
w—— DQM_fitted4_1000evt
A r-:
B a5k
P
ML S
g
25+
2
15—+1, :
g
0,52— ----------- Feeean [ERE
o i
T
o
0.953
A A2
2 N
=< <
\% \Y%
E i
g™ I el
i :
mET] s
1 107 1072

-1
AR(track, je}[g)



	Contents
	Page 1


